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1. In which work or works Wittgenstein
does attack on essentialism ?

1. Fm w=w @ s § fagieeE |
FariaEErE (G0 aEdae) 1 e

FE o (1) Tractatus-Logico Philosophicus
) and philosophical investigations
WEAL LY - it feeminag; 3w | (2) PBlue and Brown books and
safeE philosophical investigations
(2) =7 UUE #13A g9 AN freraiRse (3) Tractatus-Logico Philosophicus
Al ' and Blue and Brown books

(3) 3Heem — wifah! ThoEiEsET 3 | (4) Tractatus-Logico Philosophicus

|
|
|
|
1
1
1
&4 UUE #i3A IH4 i (5) Question not attempted
(4) 3Feem — HAitamn! TheraiiEse | 2. What is the correct classification
5) A 9 1 with regard to the human possession
@ J of Intellectual Intuition ?
2. g Siaa & AEEE @i & we | ‘ Man as Possessor of Intellectual
5 wél afisto = 7 2 1 Intuition
wgs difgs sfowe S @l S w9 Kant - Fichte
Eard frae | (1) No —  Yes
(2) No —  No
) e - @ i (3) Yes - No
tz} qﬁf% = Hﬁ% 1 (4} YEE = YES
(3) # - 7 ! (5) Question not attempted
(4) & - 2 | 3. How does Hume explain personal
® ! (1) Inlogical terms
3. wH afes Argreal 1 syre e v | (2) In epistemological terms
FAE? , (3) In psvchological terms
(1) arfdes sT i (4) In moral terms
(2) sradiarere st (5) Question not attempted
(3) wAETHS 3yl § 4. Why does Anstotle propound that
(4) 3w wet & universal and  particular are
" nseparable ?
(5) IR (1) Due to the dialectical nature of
4. v Fr @ vfamiea w@ 2w things.
%11 faom HYF 29 (2) Due to the umiversals being

easences of things.

s = %
(1) FE3 6 eI SHha & S Due to the possibility of

(2) ATHFE T3] & ANAE B & SR

_ knowledge.
(3) A %I HYEA] & HR (4) Due to the possibility of
(4) AfeeRar <7 Jy1Ea1 & FA0 morality.
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(6) Question not attempted

(5) FIAE v




3ireIEaTe (Epiphenomenalism) #1182 | 5.
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(2) SETSFETE]
(4) Tgf=a=

What is epiphenomenalism ?

(1) Mental events have no causal
efficacy with respect to
physical events.

(2) Physical events have no
causal efficacy with respect to
mental events.

(3) Mental events have no causal
efficacy with respect to
physical events and Physical
events have no causal efficacy
with respect to mental events
both are true.

(4) Mental events have no causal
efficacy with respect to
physical events and Physical
events have no causal efficacy
with respect to mental events
both are false.

(h) Question not attempted

According to Plato the real objects
of knowledge are

(1) Metaphysical substances

(2) Mathematical entities

(3) Ideas created by the intellect
(4) Empirical objects

(5) Question not attempted

According to Aristotle, motion and
change 18 best explained as :

(1) Mechanical (2) Teleological
(3) Natural (4) Acadental
(5) Question not attempted

Suppose that it 18 a contingent fact

that person is an embodied soul

and that soul iz immortal, then
what would constitute the personal
wdentity ?

(1) Continuity of consclousness
forever.

(2) Continuity of embodiment of
consciousness one life-span
after another forever.

(3) Continuity of  connected
consciousness with or without
embodiment forever.

(4) Continuity of connected
embodied consciousness one
life-span after another forever.

(5) Question not attempted
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13.

14.
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(3) TS WHT AT Ah
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(5) HATIE 9

10.

11.

12.

13.

14.

The ‘universals' according to Plato
are not

(1) Eternal (2) Unchanging
(3) Perfect (1) Immanent
(5) Question not attempted

Which proof for God's existence is not
in one of the “Five Ways” of Aquinas ?
(1) Argument from Contingency

(2)  Argument from Motion

(3) Teleological Argument

(4) Ontological Argument

(5) Question not attempted

According to Aristotle, forms are

(1) created in every act of creation

(2) created by employment of
efficient cause

(3) created in the material cause

(4) the principle of reality

(5) Question not attempted

Hume rejects

(1) Existence of experiences

(2) Existence of experiences
independent of experiencers

(3) Relations of ideas brings
certain knowledge

(4) Matters of facts cannot produce

certain knowledge

(5) Question not attempted

Descartes is considered a Dualist

primarily on the ground of his belief

n the existence of

(1) God and the World

(2) Mind and Body

(3) Idea and Existence

(4) Clear and Distinct idea

(5) Question not attempted

Reasoning which derives existence
from perfection is called
(1) Cosmological proof or argument
(2) Axiological proof or argument
(3) Ontological proof or argument
(4) Causal proof or argument
(5) Question not attempted
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15.

17.

18.

19.

Plato and Aristotle agree upon

(1) the idea of two different worlds

(2) refutation of the world of ideas

(3) inseparability of universals and
particulars

(4) conception of eternally perfect
being and constantly changing
waorld

(5) Question not attempted

Monads, as centers of force,
according to Letbnitz ave

(1) Physical hodies

(2) Metaphysical entities

(3) Mathematical points

(4) Substances in space and time
(5) Question not attempted

Locke and Berkeley, the two

empiricists differ in maintaining that

(1) Experience 1s the source of all
knowledge.

(2) The objects of knowledge are
the objects of perception.

(3) The objects of knowledge exist
in the external world.

(4) The existence of God is
undeniable.

(5) Question not attempted

According to Descartes, the idea of

God in knowers mind is not

(1) aninnate idea

(2) absolutely clear and absolutely
distinet

(3) a product of reasoning

(4) caused by God himself

(5) Question not attempted

*Substance is something [ know not

what'

(1) Weakens Locke's empiricism

(2) Strengthens Locke's empiricism

(3) Negates the existence of matter
according to Locke

(4) Negates the existence of God
according to Locke

(5) Question not attempted
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21.

22.

the cause of the idea of God, because
I am a less perfect being. Which
argument is this ?

(1) Ontological (2) Causal

(3) Teleological (4) Moral

(5) Question not attempted

Of the infinite attributes of God, how
many can a man know according to
Spinoza ?

(1) One

2) Two

(3) None

(4) All the attrbutes

(5) Question not attempted

According to John Dewey the process

of knowing is

(1) a passive  and
observation of its object.

(2) an active and experimental
process of knowing of its object.

(3) a purely rational process and
sense experience cannot give us
anv knowledge.

(4) related with only appearance
and reality cannot be known.

(5) Question not attempted

Plato does not accept mathematical

knowledge as highest knowledge

because

(1) This knowledge 1s rational

(2) It is based on hypothesis

(3) Itis false

(4) Tt is uncertain

(5) Question not attempted

According to subjective idealism of

Berkeley which of the following is

meorrect ?

(1)  Objects
knowable.

(2) To be is to be perceived.

(3) Experience of the external world
is necessary for knowledge.

(4) God exists.

(5) Question not attempted

neutral

of experience are
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27.

What is not correct for rationalism
from the following ?

(1) Source of correct knowledge is
innate ideas.

(2) Knowledge of these innate
1deas 18 necessanly true.

(3) New born infant perceives
these innate ideas from the
moment when he comes in the
world.

(4) For realizing such innate ideas
experience provides the
occasion on which the mind by
its own hght perceives their
truth.

(5) Question not attempted

According to Locke source of God's
knowledge is

(1) Sense perception

(2) Reflection

(3) Spiritual experience

(4) Demonstrative knowledge
(5) Question not attempted

What iz Gettier's objection to the
definition of knowledge that
“Justified true belief is knowledge” ?

(1} Tt is not a necessary condition of
knowledge.

(2) It is not a statement of category
mistake.

(3) It is not a sufficient condition of
knowledge.

(4) It is neither a necessary
condition mnor a sufficent

condition of knowledge.
(3) Question not attempted
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29.

Hume is a sceptic thinker because he
propounds that

(1)

(2)

(3)

(4)
(5)

for acquiring true knowledge
we must firstly doubt to all our
previous beliefs.

we only know our perceptions of
objects but we don’t know about
the independent existence of
these objects from us. So their
independent  existence in
external world 1s suspicious.

pur sense perception gives us
vauge and many times
erroneous  knowledge, so it's
truth 1s always suspicious.
None of these

Question not attempted

According to Kant thing in itself 1s
unknown and unknowable because

(1)
(2)

(3)

(4)

(5)

According

Thing in itself does not exist
bevond the experienced reality.
Man is a creation of God and
God has not given him the
power to know the thing in
itself.

Man knows only sense
experience organizing them in
the inner subjective forms of
space and time.

Thing in itself 15 an all
pervasive conscious whole and
man does not have the capacity
to know 1it.

Question not attempted

to Russell, from the

following which are the objects of the
knowledge by acquaintance :

(1)
(2)
(3)
(4)
5)

sense data, physical objects of
the world. various animals
physical objects.
experience, universals
sense data, Inner experiences,
universals

physical objects, self and other
mind

Question not attempted

inner
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31. From the following which is false

32.

33.

according to William James 7

(1) Truth does not have objective
and independent existence from
human mind but it 18 a

property of man's beliefs
related things.
(2) Truth is an objective and

universal reality, it exists
whether somebody knows it or
not.

(3) Observation and experimental
method is the source of enquiry
of the truth.

(4) When a belief corresponds with
its object, only then it is true.

(5) Question not attempted

Who is the propounder of
correspondence theory of truth as
correlation ?

(1) Bertrand Russell

(2) J.L. Austin

(3) Brand Blanshard

(4) Soul Kripke

(5) Question not attempted

According to Kant the purpose of

transcendental dialectics is

(1) to give a method of under
standing the real nature of
metaphysical entities such as
the world, soul and God.

(2) to explore the practical utility of
the knowledge of metaphysical
realities in the field of religion
and ethics.

(3) Critical treatment of illusion
related supersensible realities.

(4) To explain the nature of
empirical realities.

(5) Question not attempted
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theory of truth ?

(1) Wittgenstein(2) Locke
(3) Bradley (4) Plato
(5) Question not attempted

Hume says that all the objects of
human reasoning or enquiry may be
divided into two kinds — matters of
facts and relation of ideas. From the
following what 1s correct about

Principles of Principles of
matter of fact relation  of
ideas

(1) necessarily necessarly
frue true

(2) necessarily probably true
true

(3) probably necessarily
true true

(4) probably probably true
true

(5) Question not attempted

According to Kant judgments related
to mathematical principles are

(1) analvtic judgements

(2) synthetic apriori judgments

(3) synthetic aposterior judgments
(4) probable judgments

(5) Question not attempted

From the following what is wrong
about Tarski's semantic theory of
truth ?

(1) It accepts that truth is the
essence of correspondence
theory.

2y It does not accept

correspondence theory of truth.
It is ontologically neutral.

It aims to reduce all semantic
concepts to physical andfor
logico-mathematical concepts.
Question not attempted
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| 40.

41.

} 38. A sufficient cause of an effect is that

(1) 1n the presence of which an
effect may or may not oceur.

(2) which is an accidental cause of
the effect.

(3) which is a mediate cause of the
effect.

(4) 1in the presence of which effect
necessarily occur,

{6) Question nol attempted

From the following which is not a
characteristic of Mill's methods of
scientific research ?

(1) Acceptance of cause
relation  between
events of the world.

(2) Creation of a hypothesis for the
process of scientific inquary.

(3) Inductive method.

(4) Acceptance of the principle of
uniformity of nature.

{(6) Question not attempted

According to Francis Bacon the

method of scientific research is

(1) only inductive reasoning

(2) only deductive reasoning

(3) inductive and deductive
reasoning both

(4) purely based on intuition

(5) Question not attempted

Which of the following is false about

effect
various

analytic judgment according to

Kant ?

(1) It gives us knowledge about
thing.

(2) It does not give us knowledge
about thing.

(3) Its predicate is already

contained 1n its subject term.
(4) Its refutation is contradictory.
(6) Question not attempted
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concept iz all the practical
consequences might conceivably
result by necessity from the truth of
that concept. This theory of meaning
is propounded by

(1) Ramsey (2) Ryle

(3) Austin (4) Peirce

(5) Question not attempted

Wittgenstein propounds the theory of
meaning in the philosophieal
investigation as

(1) a words meaning is either a
simple object or a logical
construction of these simple
objects.

(2) aword's meanmng is denotative,

(3) a words meamng is only a
mental 1mage and in external
world no corresponding object
according to it.

(4) a word is used in different
meanings in different contexts
and there is a family
resemblance in these meanings
of a word.

(5) Question not attempted

Choose the correct
following The
scientific principles
(1) isonly -
theoretically
possible
(2) is possible =
through the
method of
falsification
(3) isimpossible
and these
principles are
important
nonsense
(4) 1s possible in —
the weak sense
(5) Question not attempted

pair from the
verification of

William
James

Carnap

Karl Popper

Al Ayer
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47.

&Bi

accepted by Poincare ?

(1) Scentific laws are only
conventional or  disguised
definitions and Science cannot
teach us the truth.

(2) Empirical laws of science are
not simply conventional or
disguised definitions, they have
a cognitive value.

(3) Empirical laws of Science are
rule of action in so for as they
predict and  predictions  are
open for falsification.

(4) Absolute certainty of scientific
laws ig not attainable.

(5) Question not attempted

From the following which scientist
accepts metaphysical agnosticism :
(1) Charles Darwin

(2) T.H. Huxley

(3) Meverson

(4) None of these

(5) Question not attempted

According to Socrates what is not
true about knowledge ?

(1) Knowledge is subjective.

(2) Knowledge is objective.

(3) Knowledge is rational.

(4) Knowledge is conceptual.

(5) Question not attempted

From the following what 1= not

correct about Wittgenstein's picture

theory of meaning :

(1) A descriptive sentence is the
only meaningful sentence.

(2) It desc¢ribes the object of the
world.

(3) It describes the facts of the
world.

(4) A meaningful sentence is
necessarily either true or false.

(5) Question not attempted
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49. Plato does not propose

51.

al.

(1)
(2)
(3)
4)
(5)

Excellence of character
(lassless society

Rule of law

Abolition of private families
Question not attempted

Which of the following is incorrect
according to Plato ?

(1)

(2)
(3)

@

)

Justice 12 one of the four
cardinal virtues.

Justice is the highest virtue.
Justice is the result of harmony
of other three virtues.

Justice is virtue not of
individual but of state.

Question not attempted

According to Aristotle, virtues are

(1)
(2)
(3)

(4)
(5)

attained by gaining true
knowledge because knowledge
alone is virtue

attained by continuous practice
attained by accumulation of
power

mnate in man

Question not attempted

Which one of the following is correct
according to Socrates 7

(1)
(2)
(3)

(4)

(5)

Knowledge is not necessary for
virtue.
Knowledge is not sufficient for
virtue.
Knowledge is both necessary

and sufficient for virtue.
Virtues are many and
knowledge 18 one amongst

them.
Question not attempted
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54.

J.S. Mill holds that

(1) Pleasures differ only in
quantity

(2) Pleasures differ only in quality

(3) Pleasures differs in quantity
and in quahty

(4) Pleasure 15 desirable but
immoral

(5) Question not attempted

Which one of the following
statements 1s correct ?

(1) All hedonism is utilitarianism.

(2) All utilitarianism is hedomsm.

(3) Sidgwick's view is called
rational utilitariamsm.

(4) Hedonism and utilitamanism
are mutually exclusive.

(5) Question not attempted

According to Kant, moral commands
are

(1) a categorical imperative

(2) a hypothetical imperative

(3) anemotional appeal

(4) essentially meaningless

(5) Question not attempted
Bentham  formulates  hedonistic
calculus to

(1) differentiate between gross and
refined hedonism

(2) ascertain the preferablity of
pleasure

(3) identify the quality of pleasure

(4) ascertain whether pleasure is
itself desirable or not

(5) Question not attempted



a7.

58.

59.

60.

61.

F0E F FTFET !
(1) T shFm s REEE AR |
(2) FTet 3 2w F TafaE FR | |
(3) TEq-T9 ¥ Fraumone 3, feg |

TE | |
(4) s (RATTEAT) =51 37 TR AE 2 |
(5) 3FANE 994

|

|
e =1 died w9f fagra sarfa 2
(1) 3 J=ER 7 |
(2) e 3 W |
(3) Afoes gfgame = :
(1) e wftomaEm w I
(5) WFAHE T |
“Nferepan anefas wHdE I F 39 |
fafe 2, forg 3 a2 2, g o Saed |
T A £ |7 — T8 FUA 3T R !
(1) gEaEd 4
(2) wd Hifaema A i
(3) qoiATEE | =
(4) d: WFER 3 i
(5) FAFHlE T+ ,
A g srEw, I AA R !
(1) #& (2) wfawers ;
(3) wfosmsy .
(5) ITIE g9 |
T = fatmam, =nfim H0 & T |
EGIE AT |
(1) @ F10N F s g |
(2) q@ F1 3w i w@Re Hihw |

TEAEE |

(3) wrdare 3R wdare @i ml

HETAE |
(4) 9= % iy wmm, =l vEE A '
T A9 FEF I 5 Al # | |
(5) a9 -J

16

29.

| 61.

According to Kant

(1) There i1s no reality beyond
gpace and time

(2) There is real existence of time
and space

(3) Thing-in-itself 1s
but not knowable

(4) Phenomena cannot be known

(5) Question not attempted

Aesthetic sense theory of morality
rests upon

(1) Moral Nihilism

(2) Moral Intwitionism

(3) Moral Rationalism

(4) Moral Consequentialism

(3) Question not attempted

“Morality conststs in the promotion
of true human good, but a good of
which pleasure 1s only an element” —
This statement 18 inconsistent with
(1) Hedonism (2) Kantian Ethics
(3) Endaemonism (4) Intuitionism

(3) Question not attempted

According to G.E. Moore, Good is not
(1) Simple

(2) Unanalysable

(3) Definable

(4) Unique

(5) Question not attempted

of hedonism

conceivable

Paradox tends to

establish

(1) pleasure is a psychological
object of desire

(2) social health i1s more desirable
than pleasure

(3) Egoism and Altruism are
always mutually incompatible

(4) The impulse towards pleasure,
if too predominant, defeats its
OWn alm.

(5) Question not attempted
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with retributive of
punishment ?

(1) Punishment is a negative
reward earned by the criminal
Punishment is an end n itself
not a means to any end beyond
itself

Punishment is awarded t{o
check ¢rime in society
Pumshment demands tooth for
a tooth and eve for an eve

Question not attempted

theory

(2)

(3)
(4)

(5)
According to Richard M. Hare, moral

judgements are

(1) Neither purely factual
meaningless
Neither
prescriptive
Neither existential
universalisable
Neither free judgments nor
rational judgements

(5) Question not attempted

Which of the following moral
philosophers is not an intuitiomst ?
(1) GE Moore (2) W.D. Ross
(3) Martineau (4) A.J. Ayer

(5) Question not attempted

According to Emotivism :
(1) Moral judgments are
descriptions of moral qualities

Moral judgments tend to
express or arouse feelings and
attitudes

moral judgments
empirically verifiable
moral judgments are of the
nature of categorical imperative
Question not attempted

nor

emotive

(2)

nor
nor

(3)
(4)

2

(3) are
(4)

(5)
a
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(2) MT-aTF ud e 1 Aaeg & |

(2) Its premises and conclusion

both are false.

(3) Its premises are all false but
conclusion 1s true.

(3) HER-aTH FEA e E sl we A |
(4) SR vd fred gl e # |
(5) FAAMT 99

68. e 8§ yahiaand 4
(1) 3 = famet ofi afrars =1 @vea &

(4) Its premises and conclusion
both are true.

(5) Question not attempted
68. The Naturalistic fallacy’, in ethics

1 T e § | (1) tends to refute any definition of
(2) I 7 it 3 wfa faed ot e good
gyt g @21 = &1 99" S 2 | (2) tends to question any challenge
. 3 to the defimition of good
©) 2?7 I T’ﬁ% & # wieaiea (3) tends to define good in terms of
SEZRLILE SIS natural properties
(4) = & & o v wtas 2, (4) states that good is a natural
fory wivayrfie =21 fosen = mawan | property which cannot be
defined
(5) FrgafRa 5 | (5) Question not attempted
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71

72.

are related in such a way that they
can both be true but they cannot be
false together. Which are those
propositions ? Select the correct code
Propositions —

A.  Some students are honest.

B. Nostudents are honest.

C. All students are honest.

D. Some students are not honest.
Codes:

(1) Aand B (2) CandD
(3) AandC (4) AandD
(5) Question not attempted

In which figsure, the middle term 1s
subject term of both the premises ?

(1) 1 2 I
(3) I 4 IV
(5) Question not attempted

This Venn diagram of categorical

(1) AAE-I (2) EAE-II

(3) AEE-IV (1) AAA-]

(5) Question not attempted

For 1 proposition, which of the

following is true ?

(1) Subject and predicate both
terms are undistributed.

(2) Subject term is distributed but
predicate  term 18 not
distributed.

(3) Subject term 15 not distrbuted
but  predicate term 18
distributed.

(4) Both subject and predicate

terms are distributed.
Question not attempted
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76.

argued that a proposition is false
because it has not been proved true ?
(1) Argument Ad Populum
(2) Complex Question
(3)  Argument Ad Verecundiam
(4) Argument Ad lgnorantiam
(5) Question not attempted

Name the fallacy committed in the
following syllogism :

Some spaniels are not good hunters.
All spaniels are gentle dogs.
Therefore, no gentle dogs are good
hunters.

(1) The fallacy of illicit minor.

(2) The syllogism is valid.

(3) Fallacy of illicit major.

(4) Existential fallacy.

(5) Question not attempted

Which law of thought 18 symbolically
represented by P> P ?

(1) Law of identity

(2) Law of contradiction

(3) Law of excluded middle

(4) Law of sufficient reason

(3) Question not attempted

Which conclusion is diaprammed in
the following Venn diagram 7
S 4

M

(1) -~ AllSareP

2) . NoSareP

(3) .. SomeSareP

(4) .. SomeSarenotP

(5) Questmn not attempted
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78.

79.

Given that an E proposition in the
square of opposition 18 true, which of
the following has to hold ?

(1) A, Tand O proposition are false.
(2)  As false but I and O are true.
(3) Aand] are false and O is true.
(4) Tis false but A and O are true.
(5) Question not attempted

Which one of the following pairs refer

to E and O propositions ?

(1) No men are mortal ; some men
are not mortal.

All men are mortal ; some men
are mortal.

All men are mortal ; no men are
mortal.

Some men are mortal ; some
men are not mortal.

Question not attempted

(2)
(3)
(4)

(5)
All cats are animals

All dogs are animals

/.. All dogs are cats

This syllogism is invalid because

(13 The conclusion is false,

(2) The premises are false.

(3) The middle term 18
undistributed in the premises.
None of these 1s true.

Question not attempted

(4)
()
Which of the following is not true

about the Boolean interpretation of
square of opposition ?

(1) It sustains the contradictones,

(2) It sustamms all types of
obversion.

(3) It sustains all types of
contraposition.

(4) It does not sustain conversion
by limitation.

(3) Question not attempted

=]
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82.

83.

represents  the  proposition  of

universal negative ?

(1) @ (2)
(3) @ (4) @

(5) Question not attempted

Inductive logic is related to .
(1) mathematical method

(2) scientific method

(3) rule of tautology

(4) None of these

(5) Question not attempted

Which of the following argument is
invalid ?

poq pvg
1y —4 (2) —P_
b ".q
p>q)-(ros) poq
(3) RAS 4y —
S.Qvs e -

(5) Question not attempted

If proposition P and Q are true and
R is false, which of the following is
true ?

M) P>@Q-B @ Qo®R=P)
@) Po(@Q=R) @) P-Q =R
(5) Question not attempted

“Have vou given up your evil ways.”
Which types of fallacy occurs in
above statement ?

(1) TFallacy of complex question

(2) Fallacy of false cause

(3) Fallacv of accident

(4) Fallacy of converse acadent

(5) Question not attempted

84



89.

r 86.

87.

88.

U “FE FIE FAPIGH T FE B |
I FIAFE ?

(1) |t FarTEs T E |
(2) Bt 37-amigs T E |
(3) =ft AT T £ |
(4) w8 it arigs 74 2 |
(5) FFARA ¥

P dasR o EEs R ?
() p=lpo(@-~a)l
2) po(=2al>q
3) p=lp=2a) >4
(4) poplola-~a)

(5) FigwIRA 9w

A% o gfes 31 Afe-mHn § F: R R 2

(1) 3fw awafas wmafl wfea o fafme
FTEw & FEs g
TETER T ST & |

(2) I T T F A R, FAE IR
HIEHT Uk 99 FAHE R |

(3) s uw Fofa afn 2 &t gfe-

AT TRATIT H T 2 |

Eal

}
}
|
|
|
|
f
|
|
|
|
|
|
|
|
!
|

!
1
1
1

4

(4) e v Fremius = aw & sl |

gfen sman wfasfagers —EE R |
(5) AT ¥

v 3 fedl ®@ Wil A8 AR,
wiaesTars 59 2

(1) (Fx) (—Max) (2) (x) — (Max)
(3) ) (M—-ax) (4) Fx—(Mxa)
(5) HAAARE 94

2l

|
!
|
|
|
|
1
|
|
|

23

B6.

87.

§89.

What is the equivalent statement of
the statement “No freshmen are not
serious” ?

(1) All freshmen are serious.

(2) All non-freshmen are serious.
(3)
(4)
(5)

All non-serious are freshmen.
No serious are freshmen.
Question not attempted

Which of the following is a tautology ?
(1) polp=@-~ql

(2) po=24dl=4q

(3) p2lp=a >4

(4) popl2lg-~q

(5) Question not attempted

What 18 the difference between an
argument and an argument form in
logic ?

(1) An argument i1s a speefic
instance with actual content,
while an argument form is the
symbolic structure.

An argument is a type of
fallacy, while an argument
form is a valid inference.

An argument is a decision
procedure, while an argument
form 1s a rule of quantification.

(2)

(3)

(4) An argument i1s a categorieal
syllogism while an argument
form 18 a  propositional
syllogism.

(53) Question not attempted

Adams is not married to anyone. [ts
symbolic form is
(1) (Fx) (-~ Max)
(3) (x) M- ax)

(5)

(2) (x)—(Max)
(4) Fx— (Mxa)
Question not attempted
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9{1 Which of the below given statements
is not true ?

91.

92.

(1)
(2)
(3)

(4)
(3)

By

Every compound statement is
truth-functional.

A oonmunction 15 a truth-
functional compound statement.
A compound statement is a
truth-functional compound
statement if all its components
are truth-functional components
of it

None of these

Question not attempted

which other way ecan an

argument be proved invalid without
constructing a truth table ?

(1)

(2)

(3)
(4)

(5)

By showing inherent
contradiction.

By assigning truth wvalues to
the simple component

statements in such a manner
that premises are turned out to
be true and conclusion false.
Neither of the two

Both, By showing inherent
contradiction & By assigning
truth values to the simple
component statements in such
a manner that premises are
turned out to be true and
conclusion false.

Question not attempted

When is an argument form valid ?

(1)
(2)
3)
(4)

(5)

If and only if it has no
substitution instances with true
premises and a false conclusion.
It 15 always valid.

When statements are substituted
for statement vanahles,

When a different statement
variable is substituted by
different simple statement.
Question not attempted




93.

94.

95.

96.

97.

o= # 9 =9 w1 ZAvT fagra @ wfafafa | 98, Which one of the following represent

g7
(1) ~@P-g9d=(~pv~q)
(2) (pvag)=(gvp)

(3) p=-p
4 po2g={~qo~p)
(5) AT 599
poq
q 3 ww i gear-anel § B
P
i e afts st 6 sEad guid 2 7
p q poq
T T o
T 13 F
F T T
F F T
(1) 149f® (2) I14f®
(3) I 9fw (4) IV ufw
(5) FTTfE 999
ﬂfﬁ{x}{xeﬂaxﬂ.ﬂmi.ﬁﬂ,ﬁﬁ'
BT 1
(1) wmfiE (2) wfeadt
(3) arufaadi (4) T B AE
(5) I 99

faweq T P v Q TS F EEn H
WH BIG1 & 94

(1) Paca 3t Q #EA A |

(2) Pam@sin QEa & |

(3) P 3 Q2H s\ & |

(1) PR QZH 92 & |

(5) FFTHA T

(x) (Fx - ~ Ix)

IHF TARAS AR frafafas
T s e &1 wfafafaes s
27

(1) A (2) 1

(3) O 4) E

(5) gl 99

95.

96.

97.

the DeMorgan theorem :

(1) p-q=(~pv~q)

(2) Pval=(@vp)

(3) p=~p

(4) p>ql=(~g>~p)

(5) Question not attempted

In the truth table of the argument

P=4q
form g , which row shows that
P
the argument form is invalid ?
P q p=q
T T T
T F F
F T T
F F T
(1) I Row (2) II Row
(3) 111 Row (4) IV Row
(5) Question not attempted
If (x) (x € A - xRx) is true then R is
_inA

(1) symmetric  (2) reflexive
(3) wreflexive (4) None of these
(5) Question not attempted

The digjunctive proposition P v Q 1s
false only when

(1) Pistrue and Q false.

(2) Pisfalse and Q) true.

(3) PandQ are both false.

(4) P and Q are both true.

(5) Question not attempted

(x) (Fx =~ 1x)

Which kind of traditional categorical
proposition is expressed in the above
mentioned symbolic form ?

(1) A @ 1
3) O 4) E
(5) Question not attempted
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(1) =AfE

(2) srEmfa

(3) vifadifes
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(3) 7591 % &

(5) Fqafa v

(2) afEt &1 e
(4) fr-Feggi = o

99.

100.

101.

102.

. The symbol of empty set 15
(1) i 2 ~
(3) < “ O

(5) Question not attempted

Which rule of inference has been
used in the following ?

If its raining then we'll go on a picnic
we will not go for a picnic

[ .. It does not rain

(1) Modus ponens

(2) Modus tollens

(3) Hypothetical syllogism

(4) Simplification

(5) Question not attempted

If A is non-empty and R is reflexive
symmetric and transitive what
relation is 'R'?

(1) Eguvalence relation

(2) Binary relation

(3)  Asymmetric relation

(4) None of these

(3) Question not attempted

The relation of being a mother is

(1) Symmetric

(2) Asymmetric

(3) Antisymmetric

(4) neither
asymmetric

(5) Question not attempted

Whach class of the following classes 1s

complementary class of the class of

women 7

(1) The class of mothers

(2) The class of daughter

(3) The class of men

{(4) The class of non-women

(6) Question not attempted

svmmetric nor
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3. In the view of Judith Butler, the

following 1= correct ?

a. There is a clear-cut distinction
between sex and gender.

b. The distinction between sex
and gender is questionable

e. The immutable characters of
sex as incontestable.

d. Gender may be seen as a

cultural interpretation of sex.
Select the correct answer using the
codes below :

(1) acé&d (2) a&e
(3) aonly (4) bonly
(5) Question not attempted

104. Consider the following statements
about the conception of human rights :
a. Human nghts are unmiversal and
an individual enjoyvs these qua
human.
b. Right to life and liberty to all, 1s
accepted as a human right by UN.
Select the correct answer choosing
the codes below :
(1) Only a 1= correct.
(2) Onlyb is correet.
(3) Both a and b are correct and b
18 the correct explanation of a.
(4) a and b are individually correct
but b is not a correct
explanation of a.

(5) Question not attempted

105. In the conception of epistemic
injustice, the following is incorrect :
(1) The concept was developed by
Miranda Fricker.
(2) There are two prominent types
of epistemic injustice : racial
and sexual.
The conception could be a way
to understand epistemic ideas
from the feminist lens.
Eradication of  epistemic
injustice necessitates that we
are more virtuous hearers.
Question not attempted

(3)

(4)

(5)
o
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107.

about scientific method in modern

philosophy :

a. Leibnitz employed metaphysical
principles to direct the search
for scientafic laws.

b. Locke insisted that the most

that can be achieved in science
is a collection of generalizations
about the association and
succession of “Phenomena”.

c. For Kant, teleological inter-
pretations contribute to the ideal
of the systematic organization of
empirical knowledge by
supplementing the available
causal interpretations.

Select the correct answer choosing

the codes below :

(1) a & care correct

(2) b & care correct

(3) only b is correct

(4) a, b & care correct

(5) Question not attempted

Consider the following statements

about post-modernism :

a. A work can become modern only
when it 18 first post modern.

b. Genealogy of Morality 18 a
prominent work of Michael
Foucault.

Select the correct answer choosing

the codes below :

(1) Only a is correct.

(2) Only b 1s correct.

(3) Both a and b are correct and b

is the correct explanation of a.
(4) a and b are mdividually correct
but b is not the correct
explanation of a.
(5) Question not attempted
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108. In the domain of scientific realism.
the following brand of realism was
developed to. do justice to the
conflicting intuitions represented by
the “No Miracle” Argument and the
“Pessimistic Meta-Induction” :

(1)
(2)
(3)
(4
(5)

True Realism
Structural Realism
Entity Realism

Critical Realism
Question not attempted

109. The right to be forgotten is related to :
(1) Cyber Ethics

(2) Business Ethics

(3) Media Ethics

(4) Environmental Ethics

(5) Question not attempted

110. The underneath 15 not true of

Ferdinand De Saussure
(1) Saussure
structuralist,

was a post-

worked
field of

Saussure had
extensively in the
Sanskrit Grammar.
Saussure was a linguist.
Saussure has
contribution in the realm
Semiology,

Question not attempted

(2)

(3)
(4)

made
of

(5)
The following is not a conception
pertaining to reality - wirtualty
continuum, in cyber :

(1) Artificial reality

(2) Virtual reality

(3) Mixed reality

(4) Augmented reality

(5) Question not attempted

111.
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112. F59d T 9% 5 F=9 § f= | 112, Consider the following statements

about Kuznet's environmental curve :

a.

b.

The curve is of the shape of an
inverted-V.

It depicts the relationship
between economic growth and
environmental degradation.

Select the correct answer choosing
the codes below :

(1)
(2)
(3)

4

(5)

Only a 1 correct.
Only b is correct.

Both a and b are correct and b
18 a correct explanation of a.

a and b are individually correct
but b 1s not a correct
explanation of a.

Question not attempted

113. Consider the following statements
about Lyotard’s conception of ‘post-
modern’ :

a.

Post-modernity consists in an
incredulity  towards  meta-
narratives.
Lyotard’s philosophical journey
ends with a novel review of
humamsm.

Select the correct answer choosing
the codes below :

(1)
(2)
(3)

(4)

()

Only a is correct.
Only b is correct.

Both a and b are correct and b
is the correct explanation of a.

a and b are individually correct
but b is not the correct
explanation of a.

Question not attempted
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115.

| 116.

a.

The first wave is sometimes
identified with a demand for
suffrage.

The fourth wave started with
the advent of 219 century.

The advent of Black Feminism
was seen in the second wave
itself.

Select the correct answer choosing
the codes below :

(1)
(2)
(3)
(4)
)

a & ¢ are correct.

b & ¢ are correct.

Only b 15 correct.

a. b & c are correct.
(Juestion not attempted

Consider the following statements
about the postmodern philosophy :

d.

b.

Habermas critiques the
conception of postmodernism.
Abandoming the idea of
communicative rationality is
not accepted to Habermas.

In Derrida, mirroring relation
between language and world is
eriticized.

Select the correct answer choosing
the codes below :

(1)
(2)
(3)
)
(5)

a & c are correct.

b & c are correct.

Only b is correct.

a, b & ¢ are correct.
Question not attempted

Prithvi Suktam 18 sourced from
which Veda ?

(D
(3)
)

Rk (2) Sama
Yagusa (4) Atharva
(Question not attempted
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117.

113-

119,

120.

The precise subject matter of
philosophy of science is :

(1) Facts

(2) Interrelation between facts and
values

Analysis of procedure and logic
of scientific explanation
Explanation of facts

Question not attempted

(3)

4
(5)

Incorrectly matched pairis :

(1) Environmental Ethies — Bio-
regionalism

Cyber Ethics — Deep Fakes
Bio-medico Ethics — Taking Life
Business Fthics — Animism
Question not attempted

(2)

(3)

(4)

(5)

The following is not a conception

directly related to Business Ethics:

(1) Corporate Social Responsibility

(2) Tax-avoidance

(3) Advertising

(4) Business Organization
Management

(5) Question not attempted

Those unable to give consent would
include incurably ill or severely
disabled infants and people who
through accadent, illness or old age
have permanently lost the capacity
to understand the issue involved,
without having previously requested
or rejected euthanasia. In such a
situation, the type of euthanasia that
may be contemplated 1s :

(1) Voluntarv

(2) Involuntary

(3) Non-voluntary

(4) Active

(5) Question not attempted
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122,

123.

124,

125.

126.

Climacus as a pseudonym ?
(1) Soren Kierkegaard

(2) Arthur Schopenhauer
(3) Hegel

(4)  Anme Ernaux

(5) Question not attempted

Which stream of thought is reflected
by the following lines ?

“God is the beginning, middle, and
end of all things, from him they
come, In him and through him they
exist and to him they will return”.

(1) Pragmatism (2) Idealism

(3) Rationalism (4) DPantheism
(5) Question not attempted

Who is the author of The
Phenomenology of Mind ?

(1) Hegel (2) Husserl

(3) Hartmann (1) Heidegger
(5) Question not attempted

What are the functions of Reason
according to Descartes ?

(1) Intuition and Deduction

(2) Intuition and Recognition

(3) Induction and Deduction

(4) Perception and Judgement

(5) Question not attempted

Who does give the subtitle “An Essay
in phenomenological Ontology” to his
Magnum Opus ?

(1} Jean-Paul Sartre

(2) Martin Heidegger

(3) Karl Jaspers

(4) M. Merleau— Ponty

(5) Question not attempted

What logically entails solipsism ?

(1) Subjective [dealism

(2) Objective Idealism

(3) Absolute Idealism

(4) Transcendental Idealism

(5) Question not attempted
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128.

129,

130.

about Momism, select the correct code :
(A) Spinoza believes that ultimate
being is one and essentially

spiritual.

(B) Fichte believes 1in spiritual
monism.

() Schelling believes in neutral
monism.

(1)  Only (A) is carrect.

(2) Only (A) and (B) are correct.
(3) Only (B) is correct.

(4) Only (A) and (C) are correct.
(5) Question not attempted

Which of the following thinkers
believe that, ‘mind is eliminated from
nature and given an independent
territory of it's own" ?

(1) Anstotle (2) Descartes
(3) Leibnitz (4) Spinoza
(5) Question not attempted

Considering the following statements
about Pluralism, select the correct
option :

(A) According to William James,

without aceepting the
pluralism, moral responsibility
is not possible.

(B) GH. Howison believes in
materialistic pluralism.

(C) Neo-realists do not believe in
pluralism.

(1)  Only (A) is correct.

(2) Only (B) 1s correct.

(3) Only (A) and (C) are correct.
(4) Only (B) and (C) are correct.
(5) Question not attempted

According to F.H. Bradley, the
Absolute isa System.

(1) Inconsistent

(2) Self-contradictory

(3) Harmonious

(4) Analytical

(5) Question not attempted
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131.

132,

| 133.

Considering the following
statements about the article —
‘Refutation of Idealism’, select the
correct option :

(A) It is written by W.T. Stace.

(B) Tt is published in 1913,

(C) One of the fundamental
purpose of this article was to
support the realism.

(1) Only (A) and (C) are correct.
(2) Only (B) and (C) are correct.
(3) Only (C) is correct.

(4) All are correct.

(5) Question not attempted

Which of the following is the author
of the book The Scientist's Atom
and the Philosopher's Stone” ?

(1) Alan Chalmers

(2) Dalton J.

(3) Newton

(4) Einstein

(5) Question not attempted

Considering the following
Assertion and Reason, choose the
correct option :

Assertion (A) : Plato 15 an
Idealistic philosopher.

Reason (R) : He believes that idea
as an object of knowledge is
independent of the knower.

(1) Both (A) and (R) are true and
(R) 1s the correct explanation
of (A).

(2) Both (A) and (R) are true but
(R) 15 not the correct
explanation of (A).

(3) (A)1s true but (R) 1s false.

(4) (R) is true but (A) is false.

() Question not attempted
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135.

136.

134. Frefafigs § & f5m faans & fasam & | 134. Which of the following thinkers

believes that — *... there is no single
reality corresponding to the general
name God : the notion of the
Godhead, which we apply to the
Trinity, 18 a mere name of word.
There is not one substance God, but
three particular substance or person,
who are equal in power’. :

(1) Martianus Capella

(2) Porphyry

(3) Thomas Aquinas

(4) Roscelin

(3) Question not attempted

“He did not work out a systematic
theory of knowledge he was
interested in discovering a method of
truth rather than a detailed
discussion of epistemological
problems”,  this  statement is
reference to :

(1) Ruseell (2) Whitehead
(3) A.d. Aver (4) Descartes
(5) Question not attempted

Considering the following statements
about Neo-realism, select the correct

option :
(A) T.P. Nunn was one of the major
contributors  in  shaping a

theoretical framework for neo-
realism.

One of the major proposition of
Neo-realism, 18 that the
relations are internal or
organic.

The neo-realism in its monistic
aspect 1s a vrevolt against
Locke's dualistic epistemology.
(1) Only (B) is correct.

(2) Only (A) and (C) are correct.

(3) Only (B) and (C) are correct.

(4)  Only (C) is correct.

(5) Question not attempted

(B)

(©)
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137. Considering the following
statement about Hume: select the
correct option :

(A) He is an empirical thinker.
(B) He is a positivistic thinker.
(C) He is an agnostic thinker.
(1) Only (A) 15 correct.

(2) Only (A) and (B) are correct.
(3) Only (A) and (C) are correct.
(4) (A). (B) and (C) are correct.
(5) Question not attempted

138. The statement, “Most propositions
and questions that have been
written about philosophical
matters are not false, but non-
sensical”, 1s given by :

(1) Moritz Schlick

(2) A.d. Ayer

(3) Carnap

(4) Ludwig Wittgenstein
(5) Question not attempted

139. Which of the following is the
‘fundamental’ characteristic of
existential ethies ?

(1) To live with firm faith in God.

(2) Acknowledging and owning
up to our freedom, taking full
responsibility for our choices,
and act in such a way as to
help others realize their
freedom.

(3) To live with universal moral
values hke compassion &
love.

(4) To live with the acceptance of
Nihilism.

(5) Question not attempted

140. The concept of super-essentialism

is related to :
(1) Descartes (2) Leibnitz
(3) Plato (4) Spinoza

(5) Question not attempted
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141. Which of the following thinkers

142,

143.

| 144,

| 145.

presented the pragmatism as a
‘method for settling metaphysical
disputes that might otherwise be
interminable’ ?

(1) Charles Sanders Peirce

(2) John Dewey

(3) Schiller

(4) William James

(5) Question not attempted

‘Knowledge is the perception of

agreement or disagreement amongst
ideas’ is the view of

(1) Spinoza (2) Descartes
(3) Locke (4) Socrates
(5) Question not attempted

The philosopher who distinguishes
between ‘matter of facts’ and ‘relation
of ideas 12

(1) Hume (2) Descartes
(3) Locke (4) Russell
(5) Question not attempted

Kierkegaard considers Hegelianism
as an intellectual fad. but regards
faith as the highest in a
human being.

(1) Good (2) Glory

(3) Passion (4) Achievement
(5) Question not attempted

“The unfinished nature of
Phenomenology and the inchoative
style in which it proceeds are not a
sign of failure, they were inevitable
because Phenomenology's task was
to reveal the mystery of the world
and the mystery of reason”, the
statement given by :

(1) Merleau — Ponty

(2) Husserl

(3) Heidegger

(4) Gabriel Marcel

(5) Question not attempted
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146. Whose exposition of the problem of
appearance and reality does not
resemble with others ?

(1) Heraclitus (2) Parmenides
(3) Plato (4) Bradley
(5) Question not attempted

147. How does the being or non-being of

empty space reflect in the

philosophies of Herachitus and

Parmenides ?

The Empty Space

Heraclitus Parmenides

(1) There is | There is
empty space | empty space

{2) There i1s no| There 15 no
empty space | empty space

(3) There is | There is no
empty space | empty space

(4) There 1s no| There is
empty space | empty space

(5) Question not attempted

148. What is that in which Aristotle’s
metaphysics culminates ?
(1) Ontology (2) Cosmology
(3) Theology (4) Axiology
(5) Question not attempted

149. Who does not advocate that God 18

a person ?
(1) St. Thomas Aquinas
(2) Descartes
(3) Spinoza
(4) John Locke
(5) Question not attempted
150. Who 15 not pluralist in any sense ?
(1) Pythagoras (2} Parmenides
(3) Plato (4) Spinoza

(5) Question not attempted
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